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5041 Ol 8.16 30 M3 HASIX AL = Al 5
5040 O] xHeH 8.16 60 s3 [H& 50038 SHEIX; 2 Al &
5039 Ol 8.16 60 = HASIX AL = Al 5
5038 O] XHeH 8.16 20 M3 [H& 50148 SHEIX; 2 Al &
5037 Ol 8.16 60 S43 [HH 4482H =TT} 24+ Al 5
5036 O] XHeH 8.16 40 [SFu MIE SHEIX; Al &
5035 O] XHEH 8.16 30 E IS Al 5
5034 O] XHeH 8.16 20 M3 [H& 50188 =HXIX; &+ Al &
5033 O] XHEH 8.16 70 H=H3 [H& 5001 XT3 Al 5
5032 Ol 8.16 20 M3 HASIX AL = Al 3
5031 O] XHEH 8.15 30 s ZJ| 28 STt 2 Al 5
5030 Ol 8.15 40 QY32 [H& 4858 =HXIX}; 223 Al 3
5029 O] XHeH 8.15 10 S43 [HE 4980 =HXIT} & Al 5
5028 Ol 8.15 40 [SFS ) [H& 44478 =X 22 Al 3
5027 O e 8.15 60 =3 AstXAL = Al 5
5026 Ol 8.15 10 HEH32 [H& 46058 XX 242 Al 3
5025 O] fHe 8.15 50 H=E32 [H& 4840HH Xh 2 A 5
5024 Ol 8.15 30 (=P HASIX AL = Al 3
5023 O] fHe 8.15 40 =31 [H& 49174 SHEIX; &2 Al &
5022 Ol 8.15 30 M3 [H& 4926 =HXIX; 22 Al 5
5021 O] XHH 8.15 40 M3 HstX AL = Al &
5020 Ol 8. 15 20 s HASIX AL = Al 5
5019 O] XHeH 8.15 50 o [H& 50128 SHEIX; 242 Al &
5018 Ol 8.15 20 M3 [H& 5007H SHXIT}F 243 Al 5
5017 O] XHeH 8.15 30 [SFo [H& 49838 =HXIX; &+ Al &
5016 O] XHEH 8.15 50 g IS Al 5
5015 O] XHeH 8.15 40 B HASIX AL S A 3
5014 O] XHEH 8.15 20 M3 IS Al 5
5013 Ol 8.15 30 LY HASIX AL = Al 3
5012 O] XHH 8.15 40 M3 [HE 4980 =TT} 243 Al 5
5011 Ol 8.15 40 = HASIX AL = Al 3
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